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d ∈ N
d > 0
COLOUR = {green, red}
green 6= red
n ∈ N
n ≤ d
a ∈ N
b ∈ N
c ∈ N
a+ b+ c = n
a = 0 ∨ c = 0
ml tl ∈ COLOUR
il tl ∈ COLOUR
ml tl = green⇒ a+ b < d ∧ c = 0
il tl = green⇒ b > 0 ∧ a = 0
ml tl = green
`
il tl = green⇒ b > 0 ∧ (a+ 1) = 0

MON

green 6= red
il tl = green⇒ b > 0 ∧ a = 0
ml tl = green
`
il tl = green⇒ b > 0 ∧ (a+ 1) = 0

IMP R

green 6= red
il tl = green⇒ b > 0 ∧ a = 0
ml tl = green
il tl = green
`
b > 0 ∧ (a+ 1) = 0

IMP L

green 6= red
b > 0 ∧ a = 0
ml tl = green
il tl = green
`
b > 0 ∧ (a+ 1) = 0

AND L

green 6= red
b > 0
a = 0
ml tl = green
il tl = green
`
b > 0 ∧ (a+ 1) = 0

AND R



green 6= red
b > 0
a = 0
ml tl = green
il tl = green
`
b > 0

HYP

green 6= red
b > 0
a = 0
ml tl = green
il tl = green
`
(a + 1) = 0

EQ LR,
MON

green 6= red
ml tl = green
il tl = green
`
(0 + 1) = 0

ARI

green 6= red
ml tl = green
il tl = green
`
1 = 0

??
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d ∈ N
d > 0
COLOUR = {green, red}
green 6= red
n ∈ N
n ≤ d
a ∈ N
b ∈ N
c ∈ N
a+ b+ c = n
a = 0 ∨ c = 0
ml tl ∈ COLOUR
il tl ∈ COLOUR
ml tl = green⇒ a+ b < d ∧ c = 0
il tl = green⇒ b > 0 ∧ a = 0
il tl = green
`
ml tl = green⇒ a+ (b− 1) < d ∧ (c+ 1) = 0

MON

green 6= red
ml tl = green⇒ a+ b < d ∧ c = 0
il tl = green
`
ml tl = green⇒ a+ (b− 1) < d ∧ (c+ 1) = 0

IMP R

green 6= red
ml tl = green⇒ a+ b < d ∧ c = 0
il tl = green
ml tl = green
`
a+ (b− 1) < d ∧ (c+ 1) = 0

IMP L

green 6= red
a+ b < d ∧ c = 0
il tl = green
ml tl = green
`
a+ (b− 1) < d ∧ (c+ 1) = 0

AND L

green 6= red
a+ b < d
c = 0
il tl = green
ml tl = green
`
a+ (b− 1) < d ∧ (c+ 1) = 0

AND R



green 6= red
a+ b < d
c = 0
il tl = green
ml tl = green
`
a+ (b− 1) < d

MON
a+ b < d
`
a+ (b− 1) < d

ARI

green 6= red
a+ b < d
c = 0
il tl = green
ml tl = green
`
(c + 1) = 0

EQ LR,
MON

green 6= red
il tl = green
ml tl = green
`
(0 + 1) = 0

ARI

green 6= red
il tl = green
ml tl = green
`
1 = 0

??
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d ∈ N
d > 0
COLOUR = {green, red}
green 6= red
n ∈ N
n ≤ d
a ∈ N
b ∈ N
c ∈ N
a+ b+ c = n
a = 0 ∨ c = 0
ml tl ∈ COLOUR
il tl ∈ COLOUR
ml tl = green⇒ a+ b < d ∧ c = 0
il tl = green⇒ b > 0 ∧ a = 0
ml tl = red ∨ il tl = red
ml tl = green
`
il tl = green⇒ b > 0 ∧ (a+ 1) = 0

MON

green 6= red
il tl = green⇒ b > 0 ∧ a = 0
ml tl = red ∨ il tl = red
ml tl = green
`
il tl = green⇒ b > 0 ∧ (a+ 1) = 0

IMP R

green 6= red
il tl = green⇒ b > 0 ∧ a = 0
ml tl = green
ml tl = red ∨ il tl = red
il tl = green
`
b > 0 ∧ (a+ 1) = 0

IMP L

green 6= red
b > 0 ∧ a = 0
ml tl = green
ml tl = red ∨ il tl = red
il tl = green
`
b > 0 ∧ (a+ 1) = 0

AND L

green 6= red
b > 0
a = 0
ml tl = green
ml tl = red ∨ il tl = red
il tl = green
`
b > 0 ∧ (a+ 1) = 0

AND R



green 6= red
b > 0
a = 0
ml tl = green
ml tl = red ∨ il tl = red
il tl = green
`
b > 0

HYP

green 6= red
b > 0
a = 0
ml tl = green
ml tl = red ∨ il tl = red
il tl = green
`
(a + 1) = 0

EQ LR,
MON

green 6= red
ml tl = green
ml tl = red ∨ il tl = red
il tl = green
`
(0 + 1) = 0

ARI

green 6= red
ml tl = green
ml tl = red ∨ il tl = red
il tl = green
`
1 = 0

OR L



green 6= red
ml tl = green
ml tl = red
il tl = green
`
1 = 0

EQ LR,
MON

green 6= red
green = red
il tl = green
`
1 = 0

NOT L

green = red
il tl = green
1 6= 0
`
green = red

HYP

green 6= red
ml tl = green
il tl = red
il tl = green
`
1 = 0

EQ LR,
MON

green 6= red
ml tl = green
red = green
`
1 = 0

NOT L

ml tl = green
red = green1 6= 0
`
green = red

HYP
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d ∈ N
d > 0
COLOUR = {green, red}
green 6= red
n ∈ N
n ≤ d
a ∈ N
b ∈ N
c ∈ N
a+ b+ c = n
a = 0 ∨ c = 0
ml tl ∈ COLOUR
il tl ∈ COLOUR
ml tl = green⇒ a+ b < d ∧ c = 0
il tl = green⇒ b > 0 ∧ a = 0
ml tl = red ∨ il tl = red
il tl = green
`
ml tl = green⇒ a+ (b− 1) < d ∧ (c+ 1) = 0

MON

green 6= red
ml tl = green⇒ a+ b < d ∧ c = 0
ml tl = red ∨ il tl = red
il tl = green
`
ml tl = green⇒ a+ (b− 1) < d ∧ (c+ 1) = 0

IMP R

green 6= red
ml tl = green⇒ a+ b < d ∧ c = 0
il tl = green
ml tl = red ∨ il tl = red
ml tl = green
`
a+ (b− 1) < d ∧ (c+ 1) = 0

IMP L

green 6= red
a+ b < d ∧ c = 0
il tl = green
ml tl = red ∨ il tl = red
ml tl = green
`
a+ (b− 1) < d ∧ (c+ 1) = 0

AND L

green 6= red
a+ b < d
c = 0
il tl = green
ml tl = red ∨ il tl = red
ml tl = green
`
a+ (b− 1) < d ∧ (c+ 1) = 0

AND R



green 6= red
a+ b < d
c = 0
il tl = green
ml tl = red ∨ il tl = red
ml tl = green
`
a+ (b− 1) < d

MON
a+ b < d
`
a+ (b− 1) < d

ARI

green 6= red
a+ b < d
c = 0
il tl = green
ml tl = red ∨ il tl = red
ml tl = green
`
(c + 1) = 0

EQ LR,
MON

green 6= red
il tl = green
ml tl = red ∨ il tl = red
ml tl = green
`
(0 + 1) = 0

ARI

green 6= red
il tl = green
ml tl = red ∨ il tl = red
ml tl = green
`
1 = 0

OR L



green 6= red
il tl = green
ml tl = red
ml tl = green
`
1 = 0

EQ LR,
MON

green 6= red
il tl = green
red = green
`
1 = 0

NOT L

il tl = green
red = green
1 6= 0

`
green = red

HYP

green 6= red
il tl = green
il tl = red
ml tl = green
`
1 = 0

EQ LR,
MON

green 6= red
green = red
ml tl = green
`
1 = 0

NOT L

green = red
ml tl = green
1 6= 0
`
green = red

HYP
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